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1. Below you will find information about temperatures in Greece and Sweden. The
information for one of the countries is in Table 1:

Table 1
<
Month Sl |l x>|2 | | o - | >
§18 2|28 5 32 88|28
Tem(eg?ture -2 | =2 1 6 10 | 14 | 18 | 17 | 13 7 4 0

For the other country, we know the information below:

Table 2
Mean (°C) 19
Median ("C) 19
Mode (°C) 25
Range ('C) 18
Interquartile range (‘C) | 10

a. Calculate the mean, median, mode and interquartile range for the data set
given in Table 1. (Show your working) (4 pts)

b. Using statistical data, which of the data sets is for Sweden and which one is
for Greece? Explain your choice. (2 pts)

c. Inwhich country the temperatures are more homogenous? Explain why. (2

pts)




2. The owner of a house has a red key ring and a green one.
There are three keys on the red one and five keys on the green one.
There is only one key on each key ring that will open the door of the house.
The owner of the house randomly picks one of the key rings and then randomly
chooses one of the keys.

a) Draw a tree diagram illustrating the experiment. (do not forget to write the
probability for each branch) (3 pts)

b) Calculate the probability that the chosen key will open the door of the house.
(2 pts)

¢) Given that the key is not opening the door, find the probability that the owner
chose the red key ring. (3 pts)




3. Aclock tower has the dimensions shown. The lateral edge of the pyramid (the roof
of the tower) is 7.5 m long.
For every question, you have to show your working and give reasons for your
answers.

25m

9m

a) Compute the diagonal BD, to the nearest cm. (2 pts)
b) Find the height of the pyramid, to the nearest cm. (2 pts)

¢) Find the total volume of the clock tower, to the nearest m®. (2 pts)
d) Find how much paint we need for the roof, if we use 0.1 litres for each m?. (3 pts)







